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3.1 Exponential & Log Graphs Graph and list domain, range, and asymptotes for each.
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3.2 Solving Exponential Equations
TRY to get the same base. If you can't, then use % or l ' ‘
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Expand:
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' : LOG EQUATIONS: Isolate the log and then use left to . = MU ORtry
and get the equation in the form log = log $0 you can CMl the logs.
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Find the domain and range of each log function. .SOL X
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i
Evaluate logs without the use of a calculator. ( ’%’
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Exponenﬂal Gro and Decay: Be able to solve ptoblems involving exponent!al models as well as ;
logistic growth models. Also, be able to use Newton's Law of Cooling. - /é no-l— ,‘—\1 ‘
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1) Kylee deposits $9,800 into an account earing 4.35% annual interest. How long will it take her

2) Afossil contains 35% of its original afount of carbon-14. How oldis the fosll? Use ST YER
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"~3) A certaln dtgfollows the exponential law. In 1999, there were 34,456 people™and
were 45,555 people, How w many people people should weexpect in the year 20207
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~ 4) Marilynn wants to have $400,000 in the banK by the me she 15 30. How much should she . :
deposit In order to reach this goal in 12 years at 5.567% annual Interest? SSume Vd’l nUD*)S , !
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Challenge type problems:
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